HW Sol 1

1.1(a) 75725,

16 | 757 0.25
16 |47 15 16
1612 rl5=F, (4).00

0 12

©. 757.25 ,=2F5.40,,
= 0010 1111 0101.0100 0000,
2 F 5 4 0

1.2(b) 59D.C =5 16"+9 x 16' +D x 16°+ C = 16
=5x256+9x16+13+12/16=
1437.75
0101 1001 1101.1100,,
5 9 D C
2635.6,=2 % 82+ 6 x 82+3 x 81+ 5 x 80+ 6 x 8!
=2x512+6x64+3x8+5+6/8=
143775,
010 110 011 101.110,
2 6 3 5 6




1.3 3BA25, =3 % 142+ 11 x 141+ 10 149+ 2 x 1471
+5 %142
= 588+ 154+ 10 + 0.1684 = 752.1684,

61752 0.1684
61125 12 6
6120 15 (1).0104
613 12 6

0 13 (0).0624

6

(0).3744

6

(2).2464

6

(1).4784

~. 3BA25, = 752.1684 , = 3252.1002,

1.7, See FLD p. 730 for solutions.

1.17 (a) 1.17 (b)

1111 (Add) 1111 (Subtract) 1101001(Add) 1101001 (Sub)
1001 1001 110110 110110
11000 0110 10011111 110011
1111 (Multiply) 1101001 (Mult)
1001 110110
1111 0000000
0000 1101001
01111 11010010
0000 1101001
001111 1001110110
1111 0000000
10000111 1001110110
1101001
100100000110
1101001
1011000100110



10111 Quotient

1.20(a)
110 )10001101
110
1011
_110
1010
_110
1001
110
11 Remainder
1.20(b) 100011 Quotient
1011 )110000011
1011
10001
1011
1101
1011
10 Remainder
1.39 (a) add subt
101010 101010
+ 011101 - 011101
(1)000111 001101
1 overflow
001000
(b) add subt
101010 101010
+ 011101 - 011101
(1)000111 001101

overflow



